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prototype: int CalConv( struct ConvDate * ). struct ConvDate { int
Source.==000J0O0O0OOOO,!I=0000000 intSolarYear.
OO00O0000000 intSolarMonth. U OO O int SolarDate. [
OO intLunarYear. 0 OO OO OO0 OO int LunarMonth. O
O O int LunarDate. O O O int Weekday. O O 0O O O 0O (0==0
00O,1=000d,..)intKkan. 0000 (0==0,1==0,..,9==
O)intChih.O O oO4d (0==0,1==0,..,11==0)}0000
OO0 Souce O, 0000000000, 00O00O000O00.
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[0 1937-20310 D0 O0OOO0OOO 1936-20300 OO OO,
0 O 0O LunarCal[] */ #define FIRSTYEAR 1936 /* The first year in
LunarCal[] */ struct ConvDate { int Source. int SolarYear. int
SolarMonth. int SolarDate. int LunarYear. int LunarMonth. int
LunarDate. int Weekday. int Kan. int Chih. }. struct tagLunarCal {
intBaseDays. /0 00 10 100000000O00O00O00O0 *
int Intercalation. /*0 00 0.0==000000 *int
BaseWeekday. /#0000 1010000000 1*int
BaseKanChin./*0 000 1010000000 1*int
MonthDays[13]. /0 0 00O OO OO ,0==0 0 (290), 1==



(1 00 (3000 ) */ }. struct tagLunarCal LunarCal[] ={{ 23, 3, 2,17, 1,
001001,10,1,1,1,0},/*1936*/{41,0,4,23,1,0,0,1,0,0,
1,0,1,1,1,0,1},{30,7,5,28,1,1,0,0,1,0,0,1,0,1,1,0,1}, {49,
0,633110010010101,1}{38,0,0,38,1,1,0,1,0, 1,
0,0,10,1,0,1},/*1940*/{26,6,2,44,1,1,0,1,1,0,1,0,0, 1,0,
1,0},{45,0,3,49,1,0,1,1,0,1,0,1,0,1,0,1,0},{35,0,4,54,0, 1,
010/1,10,1,0,1,0,1},{24,4,5/59,1,0,1,0,1,0,1,0,1,1,0, 1,
1},/*1944*/{43,0,0,5,0,0,1,0,0,1,0,1,1,1,0,1,1},{32,0,1,
10,1,0,0,1,0,0,1,0,1,1,0,1,1},{21,2,2,15,1,1,0,0,1,0,0, 1,
0,10,1,1}{40,0,3,20,1,0,1,0,1,0,0,1,0,1,0,1,1},/*1948*/
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